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Sectlon—A
(wvs-1):
(Very Short Answer Questlons)
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Note : Attempt all five questlons Each question carries

. 2 marks. Very short answer is requlred Sx2= 10
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1. Whatis Baye's Theorem ?
A g R 7

2. Find Yuie’s COéﬁ;lcient of Association from the

following data :

N=1 ,000 (A) 380,(B) = = 400, (AB) =230
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N = 1,000 (A) = 380, (B)‘= 400, (AB) =230
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3. Whatis interpolation ? -

4 What is meant by Standard Error ?

’mﬁwaﬁrwaﬁ%?

5 What is meant by' ‘t’f-test ;s

K —_—

“ QQET | 41 SN ® 7

NEP-188




(3)
Section-p
(wvE-9)
(Sho“rt Answer Qusstionﬁ)'
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Note : Attempt any five questions out of the following
three questions. Each question carries 7.5 marks,
Short answer is réquired. | 2x7.5=15
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- 6. A card is drawn from a pack of cards. Find the

Probablhty of gettmg a queen or a diamond or a red

- card.
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7.  Expand the following bmomial :
- .
80 (-1— + 1
2 2)
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§. What is Chi-square test ? Discuss the uses and

| limitations of Chi-square test.
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Sectlon—C e .
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- (Long Answer Questlons) ‘
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Note : Attempt any three questlons out of the followmg
. five questions. Each questlon carries 15 marks.

Answer is required in detail. 3x15=45
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| 9.  The following table gives the Production for various

years. Estimate the Production for the year 2000 °
and 2004. -

Year 11994 1996 1998 2002 -

Production (000 Tons): 200 220 260 352

21 af 2000 3R 2004 B RY AT F FTAT -

5 e e 1994 1996 1998 2002
(ooozq) 200 7220_ 260 352

Elght coins are thrown 51mu1taneously Find the
chance of obtaining (a) 6 heads, (b) at least 6 heads,
(¢c)no head and (d) all heads.
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' ‘,Ll»« What is Slmulauon tcchmquc ? What are itg .
advamageb and limitggions ?
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The table below gives the yields in quintals of fouf
plots each of three varieties of wheat. Is there g

- signify cant difference between the mean yleld ofthe
three varletles ? ‘

((F.05 for V, =2, V, =9 is 4.26)

| Plot No. - Varieties :

L O oY v
1 10 9 4
. 6 b7 i
3 7 T 6
4 9 S 6
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B olRge aust A arfU™ arrr B 7 mmrermiar
V, =29V, = 9%&'@105 =4.26 )
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},Explam the ‘Statxstlcal De01s1on Theory DISCUSS :

its scope, utlhty and Iunltatlons
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